Esercizi sulle equazioni di primo grado intere

1. x(x+3)—x2-3=0
2. 2x+x(x—4)=x(x+2)-1
3. Sx—x(x+3)=x(2—x)+6

4, x2-3(x+1)-2[x(x+1D]=—x(x+1)

5 z(l 3)+1(3 6) + 2x% = x(2x — 3)
. 2x 5 3 X X® = XX

6 22+1 3—2(+1)2 2
. 3x 2x —3xx X

7 ! 3+2<32+1 1)—1(3 1)
: x PRt =5x(3x
8. (x+D(x—-1)+x=x?

9. 3x+(x+2)(x—-2)—x%2=0

10. (x+4)(x—4)—x(x+2)=6
11. x(x—3) = (x — 3)?

12. (x+1)?—x%2=2
13. —2x+x(x +3) =2(x +1)?

14. —5x+ (x—3)(x+3) —x = (x + 3)?

15. 2x+3x(x+1)+5+13x =3(x +3)?2-22

16. x(x+4)—[(x+2)?—6x]+6=—-2x+5

0. Y- -Gre1) =363
18. (x—2)(x +2) = (x — 2)?

19. 2x+(x+2)(x—2)=(x—-3)2-1

20 —(x+4)?+5=—(x+2)(x—2)—3x

21. 2(x—D(x+3)=2(x—1)?—4x+5

22 4(x—-2)—-T7x+[(x—-2)(x+2)—(x—2)*]=0

23. +2(2x%?=5) —{-2[-2(x+3)(x—3) —4x]+ 2} = +2x—1
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24, (§+ 1)2—2(x+1)(x—2) =—7x(1x—2>+6x [x=+

4

1 3
25. §(4x—2)+(x—1)(x+1)=(x+1)2+Z(4x—4) [x = 0]

2 25 1 18;
26. <§x+1) +§x=<§x+1)(4x+1)+(x—1)(x+1)—x2 [x=+?
27. x(x*+4x+4)—4(x+2)* —x*(x+1) = —x? [x:—g_
28. (x+1)>—9=x2(x+3)—5x [x = +1]
29, x4+ D=1+ (x+1)% = (x— 1)3 = +3(x2 + 3x) — x3 + 2x2 [x=+%_

1 3 1 1 2 2 45
30. (= —1(=x2 —x—1)=1-2 2.2 [:__

<3x+1) 1<3x +1><9x 1) 1 9x+3(x+2)+3x x 171
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